
1 : 2.5

SECTION B   B

SECTION A   A SECTION  C   C

6mm welding

76.1 x 5 C.H.S.

G.M.S. plateM6 screw

76.1 x 5 C.H.S.

Pipe 25 dia.

Pipe 32 dia.

M6 screw

3mm th. G.M.S. plate

30 x 12 steel  bar

M4 screw at 200c/c approx

1
0

2
0

5
1
5

3

TYPE 'A'  (SHEET 4 OF 4)

PASSENGER SHELTER  

TUBULAR STEEL FRAMED
REFERENCE

SCALE

DRAWING No.

HIGHWAYS DEPARTMENT

REF.                             REVISION              SIGNATURE  DATE

CAD

--

-

-

Former Drg. No. H6014/4

Spot weld to secure nut

Spot weld at bolt location

(Fixing omitted for clarity)

12x16 slot for M10 bolt

DETAIL 'X'

G G

F F

303020

6
6

5
¡

Ó

1315

3
0

1315

3
0

DETAIL 'Y'

(Fixing omitted for clarity)

12 dia hole for M10 Bolt

76.1x5 CHS

30x28x6 Thick steel plate

76.1x5 CHS

3 3

76.1x5 CHS

30x28x6 Thick steel plate

Rubber gasket

Silicone sealant

M6 screw

Silicone sealant

4 12 4

SECTION F - Fsealant

Silicone

SECTION G - G SIMILAR

Glazing

Glazing

See H6123 for notes.

Note:

Glazing

June 94

A Oct. 02General  Revision -

-

signed

Original
B

Perforated sheet 

steel  washer (Insulated with nylon washer)

M10 stainless steel  bolt and nut with stainless

30x12 steel  bar

H 6126B

Nov 15Perforated aluminium sheet added


